
	
  	
  	
   	
   	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  

Producto	
  Integrador	
  
	
  

Funciones	
  Exponenciales	
  

FUNCIÓN	
  EXPONENCIAL	
  NATURAL	
  

𝑫𝒙(𝒆𝒙) =   𝒆𝒙	
  

𝑫𝒙 𝒆𝒖 =   𝒆𝒖𝑫𝒙𝒖(Regla	
  de	
  la	
  cadena)	
  

Ejemplos:	
  

1. 𝑫𝒙(𝒆𝟑𝒙
𝟐!𝟒𝒙!𝟐)	
  

	
  

= 𝑒!!!!!!!!
𝑑
𝑑𝑥
(3𝑥! − 4𝑥 + 2)	
  

	
  
= 6𝑥 − 4 𝑒!!!!!!!!	
  

	
  
	
  
	
  

2. 𝑫𝒙(𝒆𝒕𝒂𝒏  𝟐𝒙)	
  

= 𝑒!"#  !!
𝑑
𝑑𝑥
(𝑡𝑎𝑛  2𝑥)	
  

= 2  𝑠𝑒𝑐!  2𝑥  𝑒!"# !! 	
  

3. 𝑦 =   𝒙𝟑 ∗   𝒆 𝒙	
  

𝑦´ =   𝑥!
𝑑
𝑑𝑥
𝑒 ! + 𝑒 ! 𝑑

𝑑𝑥
(𝑥!  )	
  

= 𝑥! ∗   𝑒 ! 𝑑
𝑑𝑥

𝑥 +   𝑒 ! ∗ 3𝑥!	
  

= 𝑥!𝑒 ! ∗
1
2 𝑥

+   3𝑥!𝑒 ! 	
  

=
1
2
𝑥! 𝑥 ∗   𝑒 ! + 3𝑥!𝑒 ! =

1
2
𝑥!𝑒 !( 𝑥 + 6)	
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FUNCIÓN	
  EXPONENCIAL	
  

𝑫𝒙 𝒂𝒙 =   𝒂𝒙  𝒍𝒏  𝒂	
  

𝑫𝒙 𝒂𝒖 = 𝒂𝒖𝒍𝒏  𝒂𝑫𝒙𝒖  	
  

Ejemplos:	
  

1.    𝑫𝒙 𝟒𝒙 	
  
	
  

= 4!𝑙𝑛  4	
  
	
  
	
  
	
  
1. 𝑫𝒙 𝟒𝟓𝒙 	
  

= 4!!   𝑙𝑛  (4)𝐷!(5𝑥)	
  
	
  

= 5 ln 4(4!!)	
  
	
  
	
  
	
  

2. 𝑫𝒙(𝟐𝟒𝒔𝒆𝒏𝒙)	
  
	
  

= 2!!"#$   𝑙𝑛   2 𝐷!(4  𝑠𝑒𝑛  𝑥)  	
  

= 4 ln 2 cos 𝑥  2!!"#$ 	
  

	
  

3. 𝒚 =   𝟓  𝒙𝟐!𝟓𝒙!𝟕	
  
	
  

𝑦´ =   5  !!!!!!! ∗ 𝑙𝑛  5  
𝑑
𝑑𝑥
(𝑥! + 5𝑥 − 7)	
  

	
  
= 𝟐𝒙 + 𝟓 5  !!!!!!! ∗ ln 5	
  


